TEST SERIES
SEVEN




TS7/1

* The Dependency Ratio in India is declining because

A) Population of 0-14 years is relatively high

B) Population of 60 years and above is relatively high

C) Population of 15-59 years is relatively high

D) Population of 0-14 years and 60 years and above
together are relatively high




TS7/2

* Which of the following Sustainable Development Goal
(SDG) will target in water availability for all and its
permanent management upto 2030 in India?

A) SDG-6
B) SDG-7

C) SDG-8
D) SDG-9




TS7/3

* Who has propounded the concept of ‘Limit to Growth'?

A) Club of Rome
B) UNESCO

C) Brundtland Commission

D) Agenda 21




TS7/4

* The number of persons who remained unemployed for a
major part of the year is called

A) Usual status unemployment

B) Daily status unemployment

C) Weekly status unemployment
D) None of the above




T57/5

» With reference to the Corporate Social Responsibility
(CSR), which of the statements is/are correct?

1. Companies Act 2014, introduces mandatory CSR.

2. Companies covered under this will have to spend atleast

one percent of their annual net-profit in the activities
under CSR.

Select the correct answer using the codes given below:

A) 1 Only B) 2 only
C) Both1and 2 D) Neither 1 nor 2




TS7/6

* Physical Quality of Life Index (PQLI) is developed by

A) Morris D. Morris
B) UNDP

C) Mehbub-ul-Haqg
D) None of the above




TS7/7

* What is the India’s rank in the Global Hunger Index
(GHI) in 20177

A) 100th
B) 101th
C) 104th
D) 105th




TS7/8

 Match List I with List II and select the correct answer
using the codes given below the lists:

List ] List II
(Vegetation type) (Region)
a) Maquis 1. California
b) Fynbos 2. Mediterranean Sea Coastal
Region

c) Chaparral 3. South Africa
d) Matorral 4. Chile

Codes: a
A) 2
B) 4
C) 3
D) 4




TS7/9

» Match List I with List Il and select correct answer using
the codes given below the Lists:

List I List II
(Country) (Capital)
a) Uzbekistan 1. Tashkent
b) Tajikistan 2. Dushanbe
c) Kyrgyzstan 3. Bishkek

d) Turkmenistan 4. Ashgabat

Code: a
A) 1
B) 1
C) 1
D) 1




TS7/10

 Match List I with List II and select the correct answer
using the codes given below the Lists

List I List I1
(Natural vegetation) (Region)
a) Epiphytes 1. Mediterranean
b) Macia 2. Equatorial

c) Baobab 3. Sahara
d) Cedars 4. Savanna

Codes:
A)
B)
C)
D)




TS7/11

* Which of the following is NOT correct matched?

TRIBE
A) Pygmy.
B) Angami
C) Ainu

D) Khirghiz

PLACE
Congo Basin
Nagaland
Japan

Sudan




TS/12

* Which one of the following is the correct sequence of the
hills of Central India located from West to East?

A) Maikal, Satpura, Mahadeo, and Chhotanagpur

B) Satpura, Mahadeo, Maikal and Chhotanagpur

C) Maikal, Mahadeo, Satpura and Chhotanagpur

D) Satpura, Mahadeo, Chhotanagpur and Maikal




TS/13

* ‘Imphal Basin’ surrounded by Manipur hills is a fine
example of

A) Lacustrine plain

B) Loess plain
C) Glacial plain

D) Alluvial plain




TS7/14

* Which of the following rivers is famous for its fault valley
drainage?
A) Chambal
B) Damodar

C) Gandak

D) Ramaganga




TS/15

* Which one of the following natural regions is known as
‘Land of Big Games’?

A) Temperate Grassland

B) Tropical Monsoon Region

C) Hot Desert Region

D) Tropical Savan Region




TS7/16

» With reference to the Himalayan range, which of the
Statements is/are correct?

1. The sedimentary rocks of the greater Himalayas were
fossil less

2. Marine livings fossils are found in the sedimentary
rocks of lesser Himalayas

3. Remains of human civilization are found in outer or
Shivalik Himalayas.

Codes:
A) 1and 2 only B) 2 and 3 only
C) 1and 3 only D) 1,2 and 3




TS7/17

* Arrange the following battles in chronological order and
select the correct answer from the codes given below

1. Battle of Sarnal

2. Battle of Bilgran
3. Battle of Dharmat
4. Battle of Jajau

codes

A) 2,1,3,4
B) 2,3,4,1
C) 3,2,1,4
D) 3,1,2,4




TS7/18
» With reference to Hath Yog which of the following
Statement is/are correct?
1. Hath Yog was practiced by Nathpanthis
2. Hath Yog technique was also adopted by the Sufis.

Select the correct answer using the codes given below:

Codes:
A) 10nly
B) 2 only
C) Both1and 2
D) Neither1 nor 2




TS7/19

* Which one of the following is NOT the characteristic
of ‘Iqta System’?

(A) Igta was a revenue collection system

(B) Siyasatnama was the source of information for
Iqta System

C) Revenue from Iqta was directly deposited in
Sultan’s account

(D) Mugti was supported to maintain troops out of
the revenue Collected from Iqta




TS7/20

* Which of the following is NOT correctly matched?

(Books) (Writers)
(A) Tabagat-i-Nasiri Minhaj-us-Siraj-Juzjani

(B) Tarikh-i-Firozshahi Shams-i-Siraj-Afif
(C) Tughlagnama Ibn Battuta

(D) Humayunnama Gulbadan Begam




TS7/21

* In which year was the 'Native Marriage Act’ passed?

(a) 1870
(b) 1872

(c) 1874
(d) 1876




TS7/22

 Match List I with List II and select the correct answer
using the codes given below the lists:

List I List I1
(Movement) (Year)
a) Pabna 1. 1855-56
b) Eka 2.1873-85
c) Santhaj 3. 1922
d) Tana Bhagat 4. 1914

Codes: a
A)
B)
C)
D)




TS7/23

* Which of the following is NOT correctly matched?

(Event) (Year)
(A) Endran Navy Act 1927

(B) civil Disobedience Movement 1930

(C) Second Round Table Conference 1931

(D) The Communal Award 1933




TS7/24

 Arrange the following events in a chronological order and
select the correct answer from the codes given below:

[. Appointment of Simon commission

II. Jallianwala Bagh Massacre

[1I. Mahatma Gandhi's Dandi March

IV. Death of Pherozeshah Mehta
Codes:

(A) IV, 11, I, II1

(B) IV, II1, 1V, 111

(O IL 1. IV, 1

(D) IV, IIL, 11, 1




TS7/25

* The trial of the Officers of the I.N.A was held in
(A) Red Fort, Delhi

(B) Gwalior Fort

(C) Amer Fort, Jaipur

(D) Agra Fort




TS7/26

* With reference to the National Calendar, which of
the statement is/are Correct?

1. The National calendar of India is based on Vikram Era.

2. The National calendar is adopted from January 26, 1950.

Select the correct answer using the codes given below:

(A) 1only (B) 2 only
(C) Both1and 2 (D) Neither1 nor 2




TS7/27

* In which year was accounting separated from auditing
and Comptroller and Auditor General’s task only
remained confined to auditing the Government
Accounts?

(A) 1975

(B) 1977
(C) 1976
(D) 1981




TS7/28

* Who opposed Planned Development in India?

(A) Mahatma Gandhi
(B) Jawaharlal Nehru

(C) Indira Gandhi
(D) Rajiv Gandhi




TS7/29
» With reference to the federal system in India, which of
the statements is/are correct?

1. States have no right to secede from the Union under the
Constitution of India.

2. Just advocacy of secession will have the protection of
freedom of expression.

Select the correct answer from the codes given below:

(a) 10only (b) 2 only
(c) Both1and 2 (d) Neither 1 nor 2




TS7/30

* Which of the following is NOT correctly matched?

(A) Public Health and Sanitation State List

(B) Census Union List

(C) Allocation of seats in the 2nd Schedule
Council of States

(D) Anti-Defection 10t Schedule




TS7/31

 How many items are there in the 11th schedule of the
Constitution of India?




TS7/32
« With reference to Prime Minister’s Office (PMO)
which one of the statements is/are correct?
1. It came into existence in 1977.

2. It is headed by the Cabinet Secretary.

Select the correct answer from the codes given below:

A) Only 2

B) Both 1and 2
C) Only1

D) Neither 1 nor 2




TS7/33

* The provision of the sixth Schedule of Indian

Constitution are applicable in which of the following
states?

A) Tripura

B) Sikkim

C) Nagaland

D) All of the above




TS7/34

* Which of the following is NOT correctly matched?

A) Hubeas corpus  ::: 'To have the body of’
B) Mandamus 0 ‘We command’

C) Prohibition ::: “To be certified’

D) Quo-Warranto :::  ‘Bywhat authority’




TS7/35

* The Money Bill is defined in which Article of the
Constitution of India?

A) Article 109

B) Article 1o
C) Article m

D) Article 112




TS7/36

* Cross border oil pipeline inaugurated by P.M. Modi
in September 2019 Connects which of the following
cities?

A) Motihari and Amlekhganj

B) Darbhanga and Amlekhganj

C) Motihari and Kathmandu

D) None of these




TS7/37

* Jaipur was listed as "World Heritage Site' by the
UNESCO 'World Heritage Committee' in its 43rd
Session held in the city

A) Baku (Azerbaizan)

B) Bishkek (Kyrgyzstan)

C) Istanbul (Turkey)

D) Marakesh (Morocco)




TS7/38

* The ‘Nalanda- Project is a programme of the Ministry of:

A) Culture
B) Human Resource Development
C) Minority Affairs

D) External Affairs




TS7/39

 Help line ‘Udyami’ is meant for:

A) Micro, small and Medium enterprises

B) Large Capital Industries
C) Women Entrepreneurs

D) Marginalized Farmers




TS7/40

* 19" November is observed as

A) World Earth Day

B) World Anti-Poverty Day

C) World Toilet Day

D) World Vaccination Day




TS7/41

* How many companies are included in BSE-GREENEX?

A) 25

B) 40
C)s50

D) 100




TS7/42

* Which among the following is the largest mechanized
mine in India?

A) Ratnagiri mine

B) Jaipur Mine

C) Sundergarh Mine

D) Bailadila Mine




TS7/43

* The Gandhian Plan was expounded in 1944 by

A) N R Sarkar
B) Kasturi Bhai Lal Bhai
C) Jai Prakash Narayan

D) Shriman Narayan Agarwal




TS7/44

* Consider the following in relation to causes of
urbanization and select the correct answer from the code
given below:

1. High rate of emigration from rural to urban areas

2. Increasing number of educational institutions in cities
3. High rate of industrialization

4. Less job opportunities in rural areas

Codes:

A)1,2and 3
B) 2,3,and 4
C) 1,2,and 4
D) 1,2,3,4




TS7/45

* Which among the following States has the main deposit
of Tin ore?

A) Assam

B) Jammu & Kashmir

C) Chhattisgarh

D) West Bengal




TS7/46

» What is the sex-ratio in India as per 2011 Census?

A) 940 females per 1000 males
B) 950 females per 1000 males

C) 960 females per 1000 males

D) None of the above




TS7/47

* Which among the following has launched ‘Virtual
Clusters’ web portal?

A) Department of Information Technology

B) Ministry of Micro, Small and Medium Enterprises

C) Ministry of Human Resources

D) Ministry of External Affairs




TS7/48

* A person with vision defect ‘Myopia’ can see
A) nearby objects clearly

B) distant object clearly

C) neither nearby nor distant objects clearly

D) Distant object clearly during day but not in night




TS7/49

* The mirror used by the dentists to see the teeth of the
patients is

A) Convex

B) Concave

C) Plane

D) combination of Convex and concave




TS7/50

* Which one of the following is a plant hormone?

A) Insulin
B) Thyroxin
C) Estrogen

D) Cytokinin




TS7/51

* The xylem in plants is responsible mainly for

A) Transportation of food
B) Transportation of amino acids
C) Transportation of water

D) transportation of Oxygen




TS7/52

* Which of the following is a correct statement?

A) Energy flow in the biospheric ecosystem is
unidirectional

B) Energy flow in biospheric ecosystem is cyclic

C) Relative loss of energy in natural ecosystem decreases
with increasing trophic levels

D) Species at progressively higher tropic levels appear to
be less efficient in using available energy




TS7/53

* The temperature of the human body

A) Decreases in winters
B) Increases in summers
C) Neither decreases in winter nor increases in summers

D) Increases in winter

27/05/2021




TS7/54
* The largest amount of fresh water on our planet is in
A) Rivers

B) Lakes and streams

C) Glaciers

D) Underground water




TS7/55

* The most important factor contributing to the loss of
vulture population in India is

A) Viral infection
B) Bacterial infection

C) Predators of vultures

D) Administering of Oxytocin injection to cattle




TS7/56

* The main pollutant in the smoke coming from cigarette is

A) Carbon monoxide & Dioxicine
B) Carbon monoxide and Nicotine
C) Carbon monoxide and Benzene

D) Dioxicine and Benzene




TS7/57

 Pyrheliometer is used for measuring
A) Sun spots

B) Solar radiation

C) Air temperature

D) Temperature of plants




TS7/58

* Which of the following is not correct about ecosystem?

A) It comprises both abiotic and biotic components

B) It has its own productivity
C) Itis a closed system

D) It is a natural resource system




TS7/59

* Which of the following species is the largest of the
‘toothed whales?

A) Finback whale
B) Blue Whale

C) Sperm Whale

D) Humpback Whale




TS7/60

* Which one of the following has been recognized as a
Megadiverse Country?

A) New Zealand

B) Australia

C) Nepal

D) Austria




TS7/61

* Which of the following has the lowest mean net primary
productivity?

A) Temperate forests

B) Tropical Forests

C) Temperate grasslands

D) Tropical Savanna




TS7/62

* Which of the following is not correctly matched?

A) First World Climate Conference ::: 1979

B) First Earth Summit ::: Agenda 21

C) Earth Summit Plus 5 1111997

D) Carbon Trading ::: Montreal Protocol




TS7/63

* Which of the following is a semicoductor

A) Plastic
B) Aluminium
C) Wood

D) Germanium




TS7/64

» Grains of Basmati rice get elongated on being cooked is
due to higher content of

A) Lysine

B) Amylose

C) Sugar

D) Oil




TS7/65

 The disease caused due to deficiency of iron is known as

A) Colour Blindness
B) Night-Blindness
C) Anemia

D) Eye flue




TS7/66

* What amongst the following is responsible for formation
of stone in human kidney?

A)Calcium acetate
B) Calcium oxalate
C) Sodium acetate

D) Sodium Benzoate




TS7/67

* [f a human disease breaks out across a large region of the
world, what is it called?

A) Pandemic
B) Epidemic

C) Endemic

D) Epizootic




TS7/68

* Which one of the following is a water borne disease?

A) Small pox
B) Malaria
C) Cholera

D) Tuberculosis




TS7/69

* Which one of the following concerns soil?

A) Edaphic
B) Climatic
C) Biotic

D) Topography




TS7/70

* ‘Cloves’ are
A) nodules of stem
B) nodules of roots

C) Leaves

D) Dried flowers




TS7/7n

* Which of the following is used in Genetic Engineering?

A) Plastid
B) Plasmid
C) Mitochondria

D) Ribosome




TS7/72

* Blue colour of the sky is due to
A) Scattering of light
B) Dispersion of Light

C) Interference of Light

D) Emission of more blue light as compared to other
colours by the Sun.




TS7/73

* Which of the following is a stem

A) Turnip
B) Ginger
C) Carrot

D) Sweet potato




TS7/74

* Bronze is an alloy of
A) Copper and Tin

B) Copper and Silver

C) Copper and Zinc

D) Copper and Lead




TS7/75

* Which of the following countries has made mandatory to
blend ethanol with gasoline?

A) China
B) UK
C) Switzerland

D) Brazil




TS7/76

* Which of the following reported to have found
biologically useful nitrogen on Mars?

A) Mangalyaan

B) Mars Express
C) Phoenix Mars Lander

D) Curiosity Rover




TS7/77

* Neno plug refers to:

A) A small bullet

B) A small hearing aid

C) A small rocket launcher

D) None of the above




TS7/78

» Sarga, Pratisarga, Vansa, Manvantara and
Vanshancharitra are the indicators of

A) Vedas

B) Puranas

C) Upnishads

D) Sutras




TS7/79

 Match List I with List II and select the correct answer
using the codes given below:

List I List I1
Emperor Titles
a) Ashoka 1. Parakramank
b) Samudragupta 2. Priyadarsin

c) Chandragupta II 3. Kramaditya
d) Skandgupta 4. Vikramaditya

Codes. a
A) 1
B) 3
C) 2
D) 4




TS7/80

* Who one of the following had not come to India with
Alexander?

A) Nearchus

B) Onesicritus

C) Demimachus

D) Aristobuus




TS7/81

* Which one of the following pairs is not correctly
matched?

A) Life of Hiuen Tsang :: Hui LI
B) The Natural History. ::: Ptolemy

C) Historical Phillippical. .2 Pompcius Trogus

D) The Histories. :::  Herodotus




TS7/82

* Mughal Emperor Jahangir gave the title ‘English-Khan’ to:

A) Albuquerque
B) Fransisco Almida

C) William Hawkins

D) Henry the Navigator




TS7/83

* Which one of the following is the seventh part of the State
according to Saptang Theory of State?

A) Janpad
B) Durga
C) Mitra

D) Kosha




TS7/84

* In the early Rigvedic period, what was considered to be
the most valuable property?

A) Land
B) Cow
C) Women

D) Water




TS7/85

* Which of the following forts was not constructed in the
reign of Akbar?

A) Red-Fort of Delhi

B) Agra Fort

C) Allahabad Fort

D) Lahore Fort




TS7/86

* Who were Polygars of South India?
A) Ordinary Zamindars

B) Mahajans

C) Territorial Administrative and Military Governors

D) Newly enriched Traders




TS7/87

* Which one of the following pairs is not correctly

matched?

INDUSTRY

A) Paper.

B) Cotton Textiles
C) Chemical

D) Motor car

LOCATION
Ontario
Detroit
Texas

Nagoya




TS7/88

* What was the name of the party founded by Saumyandra
Nath Tagore?

A) Indian Bolshevik Party

B) Revolutionary Communist Party

C) Bolshvik Leninist Party

D) Radical Democratic Party




TS7/89

* Who out of the following performed a ritual called
‘Hiranya-Garbha’?

A) Mayur Sharman

B) Harichandra

C) Danti durga

H) Harsha




TS7/90

* Which one of the following pairs is not correctly

matched?

A) First Battle of Panipat.
B) Battle of Khanwa.

C) Battle of Ghagra.

D) Battle of Chanderi.

1526
1527
1111529

1111530




TS7/91

* Who addressed Gandhiji as ‘one man boundary force’?

A) Churchill
B) Attlee
C) Mountbatten

D) Simon




TS7/92

* For which of the following Sessions, the Congress elected
its first woman President?

A) Calcutta Session 1917

B) Gaya Session 1922

C) Allahabad Session 1921

D) Lucknow Session 1916




TS7/93

* Who was the leader of 1857 struggle for freedom in
Lucknow?

A) Zeenat Mahal
B) Nana Saheb

C) Hazrat Mahal

D) Tantya Tope




TS7/94

* Who was known by the nick-name ‘Lokhitvadi’?
A) Gopal Hari Deshmukh
B) Mahadev Govind Ranade

C) Jyoti Phule

D) Bal Gangadhar Tilak




TS7/95

* What was ‘Kamagatamaru?
A) An industrial centre
B) A harbor

C) A ship

D) An army unit




TS7/96

* The ‘Cabinet-Mission’ of 1946 was led by

A) Sir Pethick Lawrence
B) Lord Linlithgow
C) Lord Wavell

D) Sir John Simon




TS7/97

 The Tarkeshwar movement of 1924 in Bengal was against

A) Corruption in temples
B) Violence
C) Arrest of Political Leaders

D) Communalism




TS7/98

* The ‘Deepavali Declaration’ issued in the year 1929 was
related to the

A) Communal problem

B) Dominion status

C) Labour leaders

D) Untouchability




TS7/99

* Which of the following is the oldest and deepest lake of
the world?

A) Lake Baikal
B) Lake Huron

C) Victoria Lake

D) Lake Winnipeg




TS7/100

* Which of the following deserts is located in the Southern
Hemisphere?

A) Kalahari
B) Gobi
C) Chihuahuas

D) Sahara
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